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QID : 201 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ST vy d o ow et # @ uy R
(?) & TUT W HA T T FH FRAT

4 |5 8
2 7
1 4
7 |11 17| ?

Options:

1)16

2)18

3)19

4) 21

Correct Answer: 19
Candidate Answer: [ NOT ANSWERED ]

QID : 202 -
How many triangles are there in the given figure?

& i sl 3 fet Fhugr 2

fi

Options:
1)4

2)5
3)6

4)7
Correct Answer: 6
Candidate Answer: 6
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘M’ can
be represented by 40, 79, etc., and ‘O’ can be represented by 11, 76, etc.
Similarly, you have to identify the set for the word “HAND”.

U QG had UH HEAT-HAE gRT AT AT ¥, ok 76 fawedr & @
T v # fear T ¥ faweut # RU wv dEan-EHp WERT & ar gt
gRT orifw ot &, St 6 Bu 1w o ncggt & {1 Inepl b Tass 3R
Ul &1 FEar 0 F 4 § IR IR A 5 F 91 3 YR H TH IHERW
o ugd 3EH ufh AR ag A TaEH d=T g’ GRS H@aar R
3GRIOT & U ‘M A 40, 79, I1TE GRT GRTAT ST FhAT ¥ AT O" P11,
76, 3 GRT g ST THar ¥ W aw @ I ua A Ru e
“HAND” & far Tag # ugaEEr ¥

Matrix-I Matrix-ll

-1 Jregg-il
0|1]|2(3]4 5/6|7(8]9
O|A|T|E|H|J S|Y|T|H|R|F
1|1Q(O|H|L|S 6 |G|R(P|L|Q
2({WIN|T|K|D 7|1|OJU|[N[M
3|J|C|Z|A|F 8|D|F|R|Q]|J
4 M|WIA|P|G 9|S|R|[L[N[W

Options:
1) 57,42,44,12

2) 57,00, 79,23
3)12, 42,78, 85

4) 03, 00, 99, 85
Correct Answer: 12, 42,78, 85
Candidate Answer: [ NOT ANSWERED ]

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % 3R A F ¥ 3@ IR Hg # gAT
orm & uy 3l BT &

]
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Options:
1

2

2)

3)

4

A 1©) (N

Correct Answer:

O

Candidate Answer:

O

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

FT W IR FPA UH FPA & URATT F g
FHL?

A
N ?
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Options:
1

AY Y

o

Correct Answer:

=

Candidate Answer:

=

QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T gUUT T AB @ W I@T AT, ar & T
IR AEAAT A ¥ Fla O Jpla uw gl H

e ufafasa gefre

Aok B
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Options:
1

N
-

2 [ %] ]

w
-

S
=

Correct Answer:

pat

Candidate Answer:

pa

QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F oy pladl A R 3WgER FEE @
AEA Ve JUT Theld & aI ag hd 3R AHHa
s fears game

)14 14
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Options:
1

IGi

2

3

~

4

=

(] (3

Correct Answer:

(3

Candidate Answer:

(3

QID : 208 - If '+' means '+, 'x' means '+, '+ means '-' and '=' means X/, then
36-9+3x1=?
afe '+ a1 e '+, X T aref '+, '+ T aref ' g - T ok X' &Y, &t

36-9+3x1=?
Options:

Correct Answer: 109
Candidate Answer: 109

QID:209-1f3x4x9x3=4933and4x6x2x1=6241,then1x6x3x2="?

afRr3x4x9x3=4933TAM4x6x2x1=62418, @ 1x6x3x2="?

Options:

1) 3261

2) 1263

3) 6312

4) 2631

Correct Answer: 6312

Candidate Answer: 6312
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Stage
2. Study
3. Start
4. Story
5. Staff

frfafere el areaentar # ST aTet 3 & SR ford |

1. Stage
2. Study
3. Start
4. Story
5. Staff

Options:
1) 53214

2) 54123
3) 45321

4) 51342
Correct Answer: 51342
Candidate Answer: [ NOT ANSWERED ]

QID : 211 - In the following question,select the missing number from the given alternatives.
8,10, 14,20, ?
fafafea vy § Ry 7 el & @ g ofe 31 hifsgl

8,10,14,20,?
Options:

Correct Answer: 28
Candidate Answer: 28

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CD, GH, KL, OP, ?
e S1geRH foar a8, e @ o ue g 81 feg g fenedi A & a8 I6t faehed 9fAg, St srgehd ol gu Rl

CD, GH, KL, OP, ?
Options:

1) ST

2) RS

3)TS

4) SR
Correct Answer: ST
Candidate Answer: ST

QID : 213 - In the following question, select the odd word from the given alternatives.

fafafea vy § Ry 7y et & @ v g ot gfg)
Options:

1) Hair

qTel

2) Hand

By

3) Feet

i

4) Finger

Correct Answer: Hair
G|

Candidate Answer: Hair
]
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QID : 214 - In the following question, select the odd number from the given alternatives.

frfafea wer & Ry g et & & fawm @@ ot g
Options:
1) 36

2) 49
3)169

4) 215
Correct Answer: 215
Candidate Answer: 36

QID : 215 - In the following question, select the odd letters from the given alternatives.

frafaf@a v & Ry 7y faemedt & @ fwm sreri &t gl
Options:

1) DEC

2) JKI

3) PQO

4) TUR
Correct Answer: TUR
Candidate Answer: [ NOT ANSWERED ]

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Hour, Minute, Second
Ig SR gAY it A= Ry 7 avif & offw & dety o wg) feuor e 81

Options:

1)

2)

©
00
®

4

©)o

Correct Answer:

©
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Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Ammeter : Current : : Barometer : ?

fafafea vy § Ry 7y et & @ efda g ot gAgl
3R : forega vamg : : argeremTdt : ?

Options:

1) Pressure

[AC]

2) Thickness
LIS

3) Mass
STHT

4) Speed
iG]

Correct Answer: Pressure
)

Candidate Answer: Pressure
ad

QID : 218 - In the following question, select the related number from the given alternatives.
23:8::42:7

FrafafEa us A Ry 7g foeredt 7 & wefea I & gl

23:8::42:7

Options:

1) 20

2) 16

3)18

4) 21
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

QID : 219 - In the following question, select the related letters from the given alternatives.
VI:PC::LK:?

frafafea vy § Ry g faredt & @ Tefda sreri st gfgl

VI:PC::LK:?

Options:

1) FE

2) ED

3)GF

4) FD
Correct Answer: FE
Candidate Answer: FE

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
APPRECIATED
FrafafEa el 7 @ a5 e gAY St 3 7Y 1ea 3 SH&RT o1 TINT dhech 8! ST 1T FehdT|

APPRECIATED
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Options:
1) RECITE

2) PART
3) READ

4) SPICE
Correct Answer: SPICE
Candidate Answer: SPICE

QID : 221 - The ratio of present ages of A and B is 2 : 3. If the age of B after 5 years will be 20 years, then what is the present age (in years) of A?

A qT B <Y g1 311G ol 31Ut 2 @ 3 &1 af 5 a syt B <At 311g 20 a¥ g ST, |t A <l e 31y (It H) R 87

Options:
1)15

2)10
3)20

4) 25
Correct Answer: 10
Candidate Answer: 10

QID : 222 - T is daughter of J. J is brother of S. S is mother of P. How is T related to P?

TJRGREIJ, SHERIS, PR A gl T, P & 5 vopr Taifda 82

Options:

1) Cousin Sister

T / TG e

2) Mother

ATAT

3) Aunt

g3

4) Sister-in-law

areft

Correct Answer: Cousin Sister

T / AR ST
Candidate Answer: [ NOT ANSWERED ]

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All stars are blue.
1. All blue are white.

Conclusions:
I. Some stars are white.
Il. Some stars are not white.

A2 Rw 7T v § 58 HUA SR 37 91 I Al W IR 58 e feg g &, gratifeh 38 am A1 aet @ fhraan g Fendt 81 aoft fsen ug ofk fhe Ruffa &R fs Ry g =
§ feend, U 7TQ el & SMTYR W gRAETT &1

<hyY-:
| goft Rar A €1
1. goft Hixt wthe &1

e
I. o R athe &
Il. T f&ar athe &t &1
Options:
1) Only conclusion (I) follows.
freenl (1) @t 81
2) Only conclusion (I1) follows.
et fwend (1) T &1
3) Both conclusi%n follow.
|
4) Neither conclusion (I) nor conclusion (Il) follows.

Tt fed (1) 7 8 s (1) @&t 21

Correct Answer: Only conclusion (I) follows.

heet fwendf (1) TE 81

Candidate Answer: Both conclusion follow.

3t &t foremd @t &1
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QID : 224 - In a certain code language, "BOOK" is written as "CQRO". How is "TABLE" written in that code language?
Yo fAfrE s o &, "BOOK" @i "CQRO" forRaT ST & | 39 ehte W17 | "TABLE" ot fohg wehR forar sirgrm?

Options:

1) UCEPJ

2) UCEPK

3) UCFPJ

4) UCDPK
Correct Answer: UCEPJ
Candidate Answer: UCEPJ

QID : 225 - In a certain code language, "ODD" is written as "22" and "SAD" is written as "23". How is "CUP" written in that code language?

o fAfE i o &, "ODD" &l "22" JuT "SAD" @i "23" forRaT SIIdT §1 39 ahts |1 H "CUP" o fohg weRR forar sirgem?

Options:
1) 38

2)39
3) 40

4) 37
Correct Answer: 39
Candidate Answer: 39

QID : 226 - How many positive factors of 72 are there?

72 % feheA €FTeHeh quTieh g1a 82
Options:

16

2)10

3)8

4)12

Correct Answer: 12
Candidate Answer: 6

QID : 227 - What is the value of [(2.3)3 - (1.7)3] / [(2.3)2 + (2.3 x 1.7) + (1.7)3]?

[2.3)3 - (1.7)31/[(2.3)2 + (2.3 x 1.7) + (1.7)3] T o=t T &2

Options:
1) 0.6
2)4
3)1.4
4)0.4

Correct Answer: 0.6
Candidate Answer: [ NOT ANSWERED ]

QID : 228 -

V845,
NN

What is the value of

V6 ++5
6 /5

Options:

1) 11-2v30

2) 11 +2v30

3) 6 +2v30

4) 6 - 2v30

Correct Answer: 11 + 2v30

Candidate Answer: [ NOT ANSWERED ]

T AT FIAT &2

QID : 229 - If 348P is divisible by 8 then what is the value of P?
Tfe 348P, 8 ¥ RS &, Gt P ST A e 82
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Options:

Correct Answer: 0 or 8
0ar8

Candidate Answer: 0 or 8
oarg

QID : 230 - What is the value of (1/6) + (1/12) + (1/20)?

(1/6) + (1/12) + (1/20) a1 A1 RIT &2

Options:
1) 2/10
2)3/10
3)1/2
4) 2/5

Correct Answer: 3/10
Candidate Answer: 3/10

QID : 231 - How many numbers are there between 200 to 300 which are perfect squares?

200 & 300 & = fonat S=aTg § it geh gof af 82
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 232 - While working 7 hours a day, A alone can cut 35 trees in 15 days. In how many days A can cut 10 trees working 5 hours a day?

A, 7 w5 ufafeT &rf ok 35 Ol @t 15 Rl & spred 81 5 € ufafe o aheeh, A 10 Ut ot fohamt el & ahre Tepar &7

Options:
1) 40

Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID : 233 - P and Q can complete a work in 18 days, Q and R in 24 days and P and R in 36 days. What will be the ratio of efficiency of P, Q and R respectively?

P a1 Q foneft ohrf &Y 18 f&AT & gy e €1 Q AT R 24 f&AT & qur P auT R 36 Rt & g1 ahd €1 ShAsT: P, Q 9T R &Y ShRIGpR1eTdlT ahT SIgUTd T §TT?
Options:

Correct Answer:3:5:1
Candidate Answer:3:4:6

QID : 234 - If the radius of sphere is reduced by 20%, then what will be the percentage decrease in its total surface area?

g forelt et Y B et 20% & A foham STG, |t 39 et & Gel YEIT &5thel A feha=t HfaRTd T et gift?
Options:

Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

QID : 235 - Marked price of an article is Rs 3000. If there is a profit of 25% after giving 20% discount, then what is the cost price (in Rs) of the article?

Qe g% o Sifehd Jea 3000 T &1 AFE 20% &l FE 7 & F1& 25% T 14 GiaT 5, At 3 e (3 H) T 8?2
Options:
1) 1920
2) 1840
3) 1760
4) 2150

Correct Answer: 1920
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Candidate Answer: 1760

QID : 236 - Marked price of an article is 20% more than its cost price. If a discount of 30% is given, than what will be the loss percentage?

e g ol Sifchd Ted I8 o Hed § 20% S1f 81 afS 30% & e & ST, at g1 et ufaerd i gm?

Options:

1)4

2)8

3)16

4) 20

Correct Answer: 16
Candidate Answer: 4

QID : 237 - 12 years ago the ratio of ages of x and y was 1 : 2. The ratio of their ages 13 years hence will be 2 : 3. What will be the sum of their present ages?

12 |1 gl X JUT y Y ST T SIUTE 1 : 2 AT1 IR SR T AT 13 ATl I1& 2 : 3 8 ST | 37T GerH 31 T ART AT g2

Options:

1)75

2) 125

3)99

4) 82

Correct Answer: 99
Candidate Answer: 99

QID : 238 - The income of A and B are in the ratio 5 : 2 and their expenditures are in the ratio 3 : 1. If each saves Rs 10,000, then what will the sum of their incomes?

A TUTB & 31T T U 5 : 2 § TUT I @ T 31701 3 : 1 &1 AfE Uer 10,000 T T S Sl &, A I7eh! ST BT AT fhe=T gIamT?

Options:
1) 140000
2) 70000
3) 80000
4) 160000

Correct Answer: 140000
Candidate Answer: [ NOT ANSWERED ]

QID : 239 - Average age of a group of 10 children is 12 years. If a child leaves the group, then the average of remaining 9 children becomes 11 years. What is the age
(in years) of the child who left the group?

10 S=a1 & Uk g I 3ftad oy 12 9 1 afe Gk Sroa1 g BISeh Il ST &, df AW 9 <d! &l Sad o1y 11 a¥ g1 SNl &1 THE B o4 aret aea i 3y (ast #) fhat 87
Options:

Correct Answer: 21
Candidate Answer: 21

QID : 240 - The cost price of an article is Rs 500. If it is sold for Rs 375, then what is the loss percent?

Qe I%g ol 5T e 500 T §1 afS 3§ 375 T A <1 ST 8, A 81 Hicierd a1 82
Options:

Correct Answer: 25
Candidate Answer: 25

QID : 241 - Cost price of a book is Rs 25. What should be the selling price (in Rs) of the book to gain 40% profit?

Qe &ch o1 58 1o 25 T &1 40% AT U1 &he & foTg Jaeh ol 3ehd 7o (3 ) T g afeg?
Options:

Correct Answer: 35
Candidate Answer: [ NOT ANSWERED ]

QID : 242 - A 600 grams of sugar solution contains 50% sugar. How much sugar (in grams) must be added so that the new mixture contains 60% sugar?

600 7 A & ater § 50% A &1 fradt S (I ) femh SR o Ag gt & 60% =t & Sg?
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2) 150

3)175

4) 200

Correct Answer: 150

Candidate Answer: 120

QID : 243 - The population of a town increase by 20% every year. If the present population of the town is 96000, then what was the population of the town last year?

foneft 21gR <t ST ufaad 20% & dedt 81 afe rgR &t adAT STEET 96000 8, dt et oy reR Y St @ oft?

Options:
1) 88000
2) 82000
3) 72000
4) 80000

Correct Answer: 80000
Candidate Answer: [ NOT ANSWERED ]

QID : 244 - A train 250 metres long is running at a speed of 15 metre per second. In how much time (in seconds) train will cross a bridge of 500 metre long?

ek 250 Hiex ol Tt 15 Hiex ufay dohs it 7fa & Terdt &1 500 Hier T wiehid & UR oA § IenTet v 9w (el #) aft?
Options:

1) 20

2) 45

3) 50

4)75

Correct Answer: 50

Candidate Answer: [ NOT ANSWERED ]

QID : 245 - A boat travels 64 km downstream in 16 hours and 12 km upstream in 8 hours. What is the speed (in km/hr) of boat in still water?

Qe 19 YT & ST%d 64 6.7, gt 16 9 & T et § 7T R & Hforger | 12 .. gt 8 & # qa aheelt &1 1id ST | 1@ &y fey (.ot /i #) @ &2

Options:

1)1.75

2)2.25

3)2.75

4) 3.25

Correct Answer: 2.75

Candidate Answer: [ NOT ANSWERED ]

QID : 246 - A certain amount becomes 3 times in 4 years, when invested at compound interest. In how many years will it become 243 times?

uo fAfga af), Tergfs sorer R ar e @ 4 o & 3 71 &) STt 81 g foamt awf & 243 11 8 s
Options:

1) 25

2) 60

3)12

4) 20

Correct Answer: 20

Candidate Answer: 20
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QID : 247 -

The table given below shows the per capita income (in
Rs) and total population (in ‘000) for 6 different
countries.

Per capita Income

= Total income of country / Population of country

dr & oo # 6 Rfdew Rt Hr vl
HT (F ) TUT Fo @ (000 F) Fr gRATAT T4
&l

ufareafes 3ma =32 & FaT AT /A H Fawear

Country | Per Capita Income (in Rs) | Population
aer ufaeafs 37 (3 H) SaEEaT
1 3120 8000000
2 2500 10000000
3 2800 9000000
4 3700 6500000
5 2350 7500000
6 3600 8200000

What is the total income (in Rs '000) of country 3?

31 3 &Y e 311 ('000 T H) T 8?2

Options:
1) 25200
2) 28700
3) 26400
4) 21300
Correct Answer: 25200

Candidate Answer: 25200
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QID : 248 -

The table given below shows the per capita income (in
Rs) and total population (in ‘000) for 6 different
countries.

Per capita Income

= Total income of country / Population of country

@ & o aforer # 6 e Rt & vlaaafs
HT (T &) IUT Fo FAESIT (000 ) T AT ITI=AT

€l
ufaeafes 39 =3 & T HF /U H FqEEdT

Country | Per Capita Income (in Rs) | Population
aer ufaeafs 3 (3 #) SaEEaT
1 3120 8000000
2 2500 10000000
3 2800 9000000
4 3700 6500000
5 2350 7500000
6 3600 8200000

Which of the following ratio will have the highest value?

FrafafEd & @ aF @ SrguTd o1 719 Sad s1fdes gim?

Options:
1) Per Capita Income of Country 4 : Per Capita Income of Country 2
32T 4 Y Ulcreath 314 : 327 2 &Y Uldeath s

2) Per Capita Income of Country 2 : Per Capita Income of Country 3
a1 2 it wfeaftn sm : Aer 3 i wfveRes sm

3) Per Capita Income of Country 6 : Per Capita Income of Country 2
31 6 Y Hfdeafh om : 321 2 Y ufdeafh s
4) Per Capita Income of Country 4 : Per Capita Income of Country 6

231 4 it ufcreafwh o : 321 6 i ufdeafts s

Correct Answer: Per Capita Income of Country 4 : Per Capita Income of Country 2

321 4 Y ufdeatwh oma : 321 2 6 ufdeats sma
Candidate Answer: [ NOT ANSWERED ]
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QID : 249 -

The table given below shows the per capita income (in
Rs) and total population (in ‘000) for 6 different
countries.

Per capita Income

= Total income of country / Population of country

dr & oo # 6 Rfdew Rt Hr vl
HT (F ) TUT Fo @ (000 F) Fr gRATAT T4
&l

ufareafes 3ma =32 & FaT AT /A H Fawear

Country | Per Capita Income (in Rs) | Population
aer ufaeafs 37 (3 H) SaEEaT
1 3120 8000000
2 2500 10000000
3 2800 9000000
4 3700 6500000
5 2350 7500000
6 3600 8200000

What is the average per capita income (in Rs) of all the countries taken together?

goft Aa1i i e i ufdeats ema (3 ) Fm &2

Options:

1) 3418.75

2) 3011.66

3) 3266.66

4) 3351.5

Correct Answer: 3011.66

Candidate Answer: 3011.66
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QID : 250 -

The table given below shows the per capita income (in
Rs) and total population (in ‘000) for 6 different
countries.

Per capita Income

= Total income of country / Population of country

@ & o aforer # 6 e Rt & vlaaafs
HT (T &) IUT Fo FAESIT (000 ) T AT ITI=AT
&l

ufareafes 3ma =32 & FaT AT /A H Fawear

Country | Per Capita Income (in Rs) | Population
aer ufaeafs 3 (3 #) SaaEar

1 3120 8000000
2 2500 10000000
3 2800 9000000
4 3700 6500000
5 2350 7500000
6 3600 8200000

Which country will have highest total income?

TR 21 1 et 31T T SifereR ghf?

Options:

1) Country 1

301

2) Country 6

26

3) Country 3

33

4) Country 4

4

Correct Answer: Country 6

6

Candidate Answer: Country 3

3

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

A chain is only (1)/ as strong as (2)/ its weakest link. (3)/ No Error (4)
Options:
1)1

2)2
3)3

4)4
Correct Answer: 4
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

She writes just not (1)/ about external beauty but (2)/ also internal wellbeing. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1
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Candidate Answer: 4

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Arpita's house is not away, we can reach there within ten minutes.
Options:
1) long

2) far
3) distance

4) from
Correct Answer: far
Candidate Answer: far

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Ayush is small to start play football now.
Options:
1) too

2) alot
3) much

4) more
Correct Answer: too
Candidate Answer: too

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Annihilate
Options:
1) Restore

2) Create
3) Destroy

4) Establish
Correct Answer: Destroy
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Relish
Options:
1) Detest
2) Hate
3) Loathe

4) Adore
Correct Answer: Adore
Candidate Answer: Hate

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Condemn

Options:

1) Pride

2) Punish

3) Pardon

4) Permit
Correct Answer: Punish
Candidate Answer: Pardon

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Immense
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Options:
1) Vast
2) Super
3) Infinite

4) Tiny
Correct Answer: Tiny
Candidate Answer: Super

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Amicable
Options:
1) Polite
2) Hostile
3) Kind

4) Cozy
Correct Answer: Hostile
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Alliance
Options:

1) Separation
2) Tie

3) Support

4) Pact
Correct Answer: Separation
Candidate Answer: Separation

QID : 261 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep at an arm's length.
Options:
1) To be at a distance with someone

2) To disturb others
3) A long distance

4) To fly high
Correct Answer: To be at a distance with someone
Candidate Answer: To fly high

QID : 262 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Smell arat.

Options:

1) A very foul smell

2) Smell of a dead rat

3) To suspect that something is wrong
4) Entering a dirty place

Correct Answer: To suspect that something is wrong
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Improve the bracketed part of the sentence.

(She left) before | reached the airport.
Options:

1) She had left

2) She will reach

3) She was learning

4) No improvement
Correct Answer: She had left
Candidate Answer: No improvement

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 264 - Improve the bracketed part of the sentence.Seven year ago today,

(1 was survived) through the streets of Mumbai.
Options:

1) I surviving

2) | survived

3) | have been survived

4) No improvement

Correct Answer: | survived
Candidate Answer: No improvement

QID : 265 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who resides in a country of which he is not a citizen.
Options:
1) Alien

2) Atheist
3) Autocrat

4) Arsenal
Correct Answer: Alien
Candidate Answer: Autocrat

QID : 266 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A letter or a document which does not bear the name of its writer.
Options:
1) Butcher

2) Anonymous
3) Homogeneous

4) Calculus
Correct Answer: Anonymous
Candidate Answer: Anonymous

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Exampel

2) Egampel
3) Example

4) Axample
Correct Answer: Example
Candidate Answer: Example

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Recive

2) Riceive
3) Reciever

4) Receive
Correct Answer: Receive
Candidate Answer: Receive

QID : 269 - Re-arrange the parts of the sentence in correct order.
The emperor's
P: his Prime Minister and

Q: his favourite courtier
R: brother in law was also

Options:
1) QRP
2) QPR
3) RPQ

4) RQP
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orrect Answer: RP

Candidate Answer: [ NOT ANSWERED ]|

QID : 270 - Re-arrange the parts of the sentence in correct order.

India's nuclear

P: ambition had been

Q: for a very long time

R: the bone of contention

Options:
1) RQP
2) QPR
3) QRP

4) PRQ
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Road safety is a safety measure to the risk of road accidents and road side injury because of the of people while driving on the road. We cannot
count the daily road side and death of people because of the driving mistakes and of road traffic rules followers. Every person going on the road
has a of injury or death. Such as pedestrians, motorists, cyclists, passengers, etc.

Road safety is a safety measureto ________the risk of road

Options:

1) eliminate

2) promote

3) reduce

4) reduction
Correct Answer: reduce
Candidate Answer: [ NOT ANSWERED ]

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Road safety is a safety measure to the risk of road accidents and road side injury because of the of people while driving on the road. We cannot
count the daily road side and death of people because of the driving mistakes and of road traffic rules followers. Every person going on the road
has a of injury or death. Such as pedestrians, motorists, cyclists, passengers, etc.

the of people while driving on the road

Options:

1) mistakes

2) daring

3) miscalculation

4) misappropriation
Correct Answer: mistakes
Candidate Answer: mistakes

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Road safety is a safety measure to the risk of road accidents and road side injury because of the of people while driving on the road. We cannot
count the daily road side and death of people because of the driving mistakes and of road traffic rules followers. Every person going on the road
has a of injury or death. Such as pedestrians, motorists, cyclists, passengers, etc.

and death of people because of the driving
Options:
1) deaths

2) antics
3) accidents

4) misfortune
Correct Answer: accidents
Candidate Answer: accidents

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Road safety is a safety measure to the risk of road accidents and road side injury because of the of people while driving on the road. We cannot
count the daily road side and death of people because of the driving mistakes and of road traffic rules followers. Every person going on the road
has a of injury or death. Such as pedestrians, motorists, cyclists, passengers, etc.

mistakes and of road traffic rules followers.
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Options:
1) lack

2) plenty
3) scarce

4) enough
Correct Answer: lack
Candidate Answer: scarce

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Road safety is a safety measure to the risk of road accidents and road side injury because of the of people while driving on the road. We cannot
count the daily road side and death of people because of the driving mistakes and of road traffic rules followers. Every person going on the road
has a of injury or death. Such as pedestrians, motorists, cyclists, passengers, etc.

has a of injury or death.
Options:

1) hope

2) wish

3) will

4) risk

Correct Answer: risk

Candidate Answer: risk

QID : 276 - In which type of unemployment people appear to be employed, i.e. even if they are removed productivity will not be affected?

g epR <t RIS & & RS ureia gia 8, 8rar: It ger A S R oft Scuteendr § &S sgerra el ST

Options:
1) Seasonal unemployement

2) Educated unemployement
? RIS

3) Uneducated unemployement
srffera

4) Disguised unemployement
59 RIS

Correct Answer: Disguised unemployement
U=5d

Candidate Answer: Educated unemployement
fifera

QID : 277 - Economic Activities have been majorly divided into how many sectors?

3n1fefe et & &isten HRed: fohae T & a1 §U &2

Options:
1) One
U

2) Two
a

3) Three
Gict

4) Four
IR

Correct Answer: Three
Candidate Answer: [ NOT ANSWERED ]

QID : 278 - Who among the following is the elected representative of ward?

PR & & s ard ohr g1 gon e e 22

Options:

1) Sarpanch

T

2) Gram Panchayat

e g

3) Gram Sabha

TUH AT

4) Ward Member (Panch)
a1 ARR (UF)
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Correct Answer: Ward Member (Panch)

1S AR (U)

Candidate Answer: Ward Member (Panch)
I1E AR (U)

QID : 279 - Who guarantees equality to all Indian citizens?

AT YR ANTR] et YA & [l 32T i &hdT 82

Options:

1) The President of India

IRd & AgUfa

2) The Prime Minister of India

IR & TTHAT

3) The Chief Justice of India

R & g refier

4) The Constitution of India

IR T Wiy

Correct Answer: The Constitution of India
IR T Ay

Candidate Answer: The Constitution of India
IR T Wiy

QID : 280 - Where is the Great Bath located?

TG FFNTR Shgl (Ad 872

Options:
1) At Sotkakoh
Hrechrchte &

2) At Mohenjo-daro
igTeice! &
3) At Lothal

e
4) At Kalibang
Cacicuik:

Correct Angwer: At Mohenjo-daro
Candidate Answer: [ NOT ANSWERED ]

QID : 281 - With how many delegates Indian National congress was established?

foraat ufafafer gt R Tt it <t 2ro &t 7 oft?

Options:
1) 50

2) 60
3)72

4) 82
Correct Answer: 72
Candidate Answer: 82

QID : 282 - What are the various patterns formed by different groups of stars called?

R & faf e gl gy oS 7 fafde snepfora st @ e &2

Options:

1) Pole Star

§a arT

2) Constellation
BLECER]

3) Planet

Tg

4) Celestial bodies
e fis

Correct Answer: Constellation
AagErHed

Candidate Answer: Constellation
qgErHed
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QID : 283 - In what units latitudes are measured?

S7&TiN oht R 3enTS & T STaT &7

Options:
1) Radian
oL

2) Steradian

T

3) Degree

3T

4) Decimal

SRMAAT

Correct Answer: Degree
3T

Candidate Answer: Degree
3T

QID : 284 - Which type of plants are usually short and may not have many branches?

fohT UehR & Tid grETaa: B gd § TUT SRR 38 s IRATY gl 87

Options:

1) Trees

J&l

2) Shrubs

EIS]

3) Herbs

Aeh

4) None of these
Fa 4

Correct Answer: Herbs
Aeh

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - Oxygen is transported in blood mainly by .

AT R q@ETAGIH & gRI o SR oI &1

Options:
1) Leucocytes

2) Erythrocytes
QRS

3) Thromobocytes
PRt el

4) Blood plasma
Thea

Correct Answer: Erythrocytes

<)

Candidate Answer: Blood plasma
Thed

QID : 286 - The exchange of gases in a mammal takes place in .

Teh ST & Tl T STTe-SE EESIE]
Options:

1) Trachea

SfeRat

2) Bronchioles

3) Bronchi

sifeh

4) Alveoli

Correct Answer: Alveoli

Candidate Answer: [ NOT ANSWERED ]
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QID : 287 - A long-jumper runs before jumping because .

ok aTeft e fRea &R aren R e @ ugd et g iR |

Options:

1) he covers a greater distance
IE Uk ATIe g a9 BT &

2) he loses momentum

ag TG AT

3) he gains confidence by running
g SR ATHTIHTE UTed el &

4) he gains momentum
EEGENRCISERGIN

Correct Answer: he gains momentum
ERERCISERGIN

Candidate Answer: he covers a greater distance
IE Yk AT T a9 HAT &

QID : 288 - A man is standing on a boat in still water. If he walks towards the shore the boat will .

U ARF SR EUTT A Uh A R @ST 8| AR ag e M iR Terarg g ____ |

Options:

1) move away from the shore
dc § R gt gt

2) turn

Tefe STgHt

3) move towards the shore

dc &l &R Tt
4) sink
SR

Correct Answer: move away from the shore

e § R g smgeft
Candidate Answer: move away from the shore

e § R g smgft

QID : 289 - Which of the following is NOT correct?

frfafea & § & a1 98 781 87

Options:

1)1 TB=1024 GB
18, & = 1024 5ft. &
2) 1 GB = 1024 MB
15t &= 1024 79, &
3) 1 MB =1024 KB
1A . = 1024 & &t
4) 1 byte = 1024 bits
1813e = 1024 fae
Correct Answer: 1 byte = 1024 bits
1913 = 1024 fae

Candidate Answer: 1 byte = 1024 bits
1am5e = 1024 fae

QID : 290 - The number of atoms present in a molecule of an element is known as its .

Qe efed oh 0] & Hio[g URATULSH Y S hgernd &1

Options:
1) Valency
GISTeRdr

2) Atomicity
3) Chemical formula

4) Molecular formula
ST
Correct Answer: Atomicity

UIHTULhdT

Candidate Answer: Valency
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QID : 291 - What is the name given to a pure substance with only one kind of atoms?

AT Qo WehR o RATYSH aret fAs[g waref ot e = fea mam &2

Options:
1) Element
dd

2) Molecule

&g
3) Mixture
afey

4) Solution
EIc

Correct Answer: Element
dd

Candidate Answer: Element
dd

QID : 292 - What is the groundwater stored at places between the layers of hard rock below water table called?

T WH R HHeTe TR & D R w8k At (Tgr) Y wxal & ffa d@fra st ot om wed &2

Options:
1) Water cycle
STef dsh

2) Water table
ST &R

3) Ground water

4) Aquifer
STTHR

Correct Answer: Aquifer
NEEN

Candidate Answer: Water table
ESE

QID : 293 - Pradhan Mantri Fasal Bima Yojana provides insurance cover to which of the following?

T g ST g fRefefed & @ fong diar 281 veM aar 8?2

Options:

1) Only Rabi Crops
Fae & wEe

2) Only Kharif Crops
hael @Ah hed

3) Both Rabi and Kharif Crops
TSl qUT @RI hE AT

4) Neither Rabi nor Kharif Crops
Tt <&t 7 € @

Correct Answer: Both Rabi and Kharif Crops
Tl g T wEd el

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following invented radio?

fFrafafea d 9 fraa et o enfasepr frar ar?

Options:
1) G. Marconi
Sit. AR

2) Thomas Edison
AT TST

3) H. Hertz

4) C.V. Raman

9T .

Correct Answer: G. Marconi

Candidate Answer: H. Hertz
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QID : 295 - Which is the host country for FIFA Under 17 World Cup in 2017

I T 37 = AT 3ieX 17 aes &y 2017 &Y ASTaH 82

Options:

1) Bangladesh
Eisical]

2) India

YRT

3) Mauritius
AR

4) Maldives
Arerdla

Correct Answer: India
YRd

Candidate Answer: India
YRd

QID : 296 - Kuchipudi is a dance form of which state?

FeIg foher T Y Ok e e 87

Options:
1) Tamil Nadu

2) Kerala
Eag]
3) Andhra Pradesh

3TT=8 T&eT
4) Karnataka
e

Correct Answer: Andhra Pradesh

ST TRT
Candidate Answer: Karnataka

QID : 297 - Who won the Lifetime Achievement Award in Lok Sabha in the Lokmat Parliamentary Award 2017?

2017 & sicrrd urferamddl qRhr & dich 91 § agthergd srfiade e fham Sftar?

Options:

1) Sharad Yadav
M gred

2) L. K. Advani

el . SfTsaHT

3) Meenakshi Lekhi
Hieht ot

4) Sitaram Yechury
IR A

Correct Answer: L. K. Advani
el . SfTsaHT

Candidate Answer: L. K. Advani
Td. &

QID : 298 - Who is the author of the book named "My Music My life"?

Options:

1) Sanjay Baru
EEREIR

2) Natwar Singh
Ter g

3) Pt. Ravi Shankar
9. I e

4) Pavan Choudhary
g e

Correct Answer: Pt. Ravi Shankar
. 3fer 2R

Candidate Answer: Pt. Ravi Shankar
. e 2R
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QID : 299 - 2001 Sino-Russian Treaty of Friendship was signed between Russia and .

2001 Fr it - T A Iy s aen & S gwaneiRa gam am

Options:

1) North Korea
ITR hiRar

2) China

=

3) South Korea
gfayor iR

4) Japan
STTar

Correct Answer: China

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - India signed 'Panchsheel' agreement with which of its neighbouring country?

AR 7 31+ fohe uStY a1 & Trer 'gasfier gusha wR gwarer forar um?

Options:

1) Bangladesh
TTeITeRT

2) China

CiE

3) Pakistan

uTfREaT

4) Sri Lanka

ofietent

Correct Answer: China

Candidate Answer: China
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